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4 :

A= 363114 +++ ,  B= 18137 ++  

Α= 363114 +++  = 63114 +++  = 9114 ++  = 3114 ++ = 

   = 414 +  = 214 +  = 16  = 4. 
 

   Β= 18137 ++  = 416973379378137 ==+=?+=+=++ . 

5  x :        

A= 3−x ,  Β = x24 − , Γ = x32 − + 1+x . 

A= 3−x ,  : x-3 0  x  3. 

: 4 -2x  0  -2x  -4   
 2x 4  x  2.

.  : 2- 3x  0

 x + 1 0 -3x -2  x  -1  x   x -1  -1  x .

6 :

)

)

) :

) :
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 1. 2α  = α .

 2.  ·  0 β·α  = α · β .

 3. β·α  = α · β , .

 4. 5 2  = 50  .

 5. 36,0  = 0,18 .

 6. 216α  = 4 .

 7.
2)4(−  = - 4 .

 8. 2α   και  ( α ) 2  .

 9. 22 β·α  = 22 βα · , .

 10. 2α  = - α   0. 

 11. β+2α  = |α| + β .

 12. 49  = ±  7 .

 13. 94 +  = 2 + 3 .

 14. 98 + 50  = 100 + 8 .

 15.  4  2  –2.

 16.  -4  -2. 

 17.  1  1.

 18. 7 - 6 7 + 6  .

 19.  5 .

 20. 4−  =-2 .
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. :

 1. O 1625 −   :
. 5-4, . 3, . 9, . 2 

 2.  2 cm :
α. 2 ,  β.  2 ,  γ. 1  δ. 2· 2  , ε.  4   

 3.  20 cm. 
.

. 200 cm2, . 100 cm2, . 400 cm2 . 200 cm2.

 4. 2   α = :
.  0, .  = 0 .  0. . .

 5. β·α  = βα ·   : 
. , . . , . .  0  0 

 6. H β
α = 

β
α  :

. , .  0  > 0 .  0  0. 

.

1. .

α β   

4 49
 

 

25 324
 

169  196 

 
 Άθροισμα  

β+α βα +

 Γινόμενο  

 β·α βα ·α β
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1 :

A = 2 · 50  + 47 +  - 43 − ,  B= 25,0 + 5,2 · 6,3   

Γ= 
15
30

11
22 · +

2
10

4
20 ·   

2  x, :

Α= 1+x , Β= x34 −  , Γ= x39 −  + 2−x ,  Δ = x−
2
3  

3 + 5   + 5  

4 :

A = 5 16  - 2520 ·  + 642 ·  

Β = 
2
6

3
2 ·

4
8 ,  Γ= 2432 ··  

5 :

A= 2)53( −  + 2)51( − ,  B= 24 +
6

12 -4 2)36( −  

6 A Α=
52

2
−

,  Β=
52

2
+

  :

A· B  - .

7 N :

i) 
2

1 ,  
32

3
·

, 
8

2 , 
5

4
−

,  
8
3 ,

3
12 −  

ii) 
22

1
−

,  
23

4
−

 ,  
32

2
−−

  

8 N :

i) 223 −  = 2  -1 

ii) 526 +  =1+ 5  
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9  :

 i)  3  +x = 12  -x ,  ii) 3 ·x = 27   iii) 
3

x  = 12  

iv) 2x+
2

2  = x+ 2  

10  12. 
, .

11 , ,
:

i)  α 22 γβ + -β2 

 ii) 22 γαβ − + 22 γβ + + 22 βαγ −  

12 : 4+ 5  και 
11

54 − .

13 A α = 5+2 2 cm και β= 5-2 2 cm  
:

) .
) .

14  24 cm2.
, .

.

15  (  = ),  18 cm. A
 8m, :

) .
) .


